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QUESTION 1

What statement is true regarding the current time in Enterprise Networking history? 

A. advent of cloud computing 

B. pace of change 

C. pervasive use of mobile devices 

D. advent of IoT 

Correct Answer: B 

 

QUESTION 2

Which three ways are SD-Access and ACI Fabric similar? (Choose three.) 

A. use of overlays 

B. use of Virtual Network IDs 

C. focus on user endpoints 

D. use of group policy 

E. use of Endpoint Groups 

F. use of Scalable Group Tags 

Correct Answer: ABC 

 

QUESTION 3

Which feature is supported on the Cisco vEdge platform? 

A. single sign-on 

B. IPv6 transport (WAN) 

C. 2-factor authentication 

D. license enforcement 

E. reporting 

F. non-Ethernet interfaces 

Correct Answer: B 
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QUESTION 4

Which three options focus of the current digital business era? (Choose three.) 

A. IoT scale 

B. connectivity 

C. virtualized services 

D. automation 

E. centralized enterprise and web applications 

F. Human scale 

Correct Answer: ACD 

 

QUESTION 5

Which Cisco vEdge router offers 20 Gb of encrypted throughput? 

A. Cisco vEdge 5000 

B. Cisco vEdge 1000 

C. Cisco vEdge 2000 

D. Cisco vEdge 100 

Correct Answer: A 
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